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Dyslektici nemusi pocitat modré priklady.

Datum:

1) Vypoditej:
27+4.(-10)=- 75
i¥ -q0
18-13+24= - £

31
(54-3.2):(-8)= —&
SF : (-9)
100+ (-24) +15= 77
foo =24 +15 =

2) Zapis jako zlomek:
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pét dvanactin

3) Vypocitej:
Népovéda: 230=30:5=6
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4) Vypocitej:
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sedm dvacetin 20

nula jedenatficetin

83224=2¢ QD: i

%248:432 /»Z:i/__

Jméno:

16-4.(3)= £F
Il +AL
(25): (5)+ (4)= 7

g -4
(-12).(5):3= 40
35-27:(:9)= 3¢
B -(—2)
b5 +0
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tfi desetiny 5
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jedna osmina
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%zSOO: 500 - fo=50

s2184= /74 9 = 7€

Ndpovéda: %z 30 =(30:5).3 = 18 (nejdrive vypocitdme jednu pétinu a pak vyndsobime

poctem pétin)
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2232=92:P - 3=42 L1500=500 : 10 - ¥ =550
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